ST oS T

gg=N(t;ffz+
{é O(g) & >0 I, Yavng s f{;’)sc‘g[n)

CeSte) @ 2cs0 o ) 2oy,

e @(5)(:,_—; {é@@) AL ﬂfg)
4. ntec dhs)

Al =1 *h?«q 7‘25 7)3 &2 1<€n
2. n° GO{%?) -
NE ; J(Q %f}‘o 3*\ 2h, {[ﬁ) >C’6(h) - h? >C‘5’)2
n>c
=) Y€Zmy /6% h }n\M (C, hg)
s, éC O(g) =7 N GO({)
NE 2 g/"‘) :hzf j[iq):hg
£ 4e0l) » g e (P

Nime gé%){*‘)gc da, ¥">"a /(fn}(cq(u)
cAccwt:géﬁ(é)é)jd Iy

AkD: N:%
5. {("O(a) v 9@0(«%}
(51 ole” _J) h susif(
b :{;}‘é:%h :-thg 3[;)) { 1 n leche

ubsreme {¢ 0{3) & chm, 3*\)3’\93 {(..\} P 0‘3 f,‘)
'&Cﬁé’(h:" {(ﬁj:hzﬁfh;:fz n >C"?

2vema fhs S ok (c, ho )



